
 
4 

 
 

Cointegration test Error 

Correction Model ARDL (Autoregressive Distributed Lag) 

 

ARDL 2 

Cointegration F-statistic 

 H0:  1 = 2 = 3 = 4 = 0 H1:  1  2  3  4  0

F-Statistic

(lag order) 12 

 
Error 

Correction term (ECt-1) Cointegration 

Error Correction term  Cointegration 

Error Correction term

SBC (Schwarz Bayesian Criterion)  
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4.1  

 F-Statistic 4.1 

 
4.1 F-Statistic 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

: 

1) [ ] Probability 

    2)  *** 0.01 

                           ** 0.05 

         

 
 

 
 

2 5.3526[0.001]*** 

3 6.2489[0.000] *** 

4 8.2121[0.000] *** 

5 10.5132[0.000] *** 

6 8.3618[0.000] *** 

7 3.9301[0.007] *** 

8 4.5208[0.003] *** 

9 3.3320[0.017]** 

10 1.3231[0.277] 

11 1.5857[0.198] 

12 1.8206[0.148] 
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F-Statistic 

2-9  

(cointegrate)  10-12 0.10 F-

Statistic  

 4.2 

Error Correction Model ARDL 3.1 

(ln MPITH) (ln MPICN) 

 (ln RERTH, CN)

 

4.2 Error Correction 

ARDL SBC (Schwarz Bayesian Criterion) 

 

 

(variable) 

(lag order)  

0 1 2 3 4 5 

ln EXPO 
 0.44606*** 

(3.1122) 

0.50954*** 

(3.9065) 

0.48056*** 

(4.1112) 

0.44534*** 

(4.2855) 

0.27196*** 

(2.9874) 

ln MPI CN 
3.1032** 

(2.0094) 

     

ln MPI TH 
-1.6787 

(-1.5816) 

-5.2082*** 

(-5.1817) 

    

ln RERTH, CN 
1.5254 

(0.98793) 

     

Constant 
-11.8327 

(-1.2345) 

     

ECt-1 
-1.0835*** 

(-6.8005) 
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: 1) ()  t-statistic (two-tailed tests) 

     2)  *** 0.01 

             ** 0.05 

          * 0.10 

3) R-squared =  0.52216      Durbin-Watson stat = 1.9687 

:  

 

(ln MPICN)

4.2 SBC 

0 3.1032  

1 3.1032  

0.05 

0 

(ln MPITH)

4.2 SBC 

 0 1  

-1.6787 -5.2082  t-statistic 1 

1 0.01 

1 

5.2082

 0.01 

1 
 (ln RERTH, CN)

4.2 SBC 

0 

1.5254
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1 

1.5254 0.10 

 

ECt-1 (
0.01)  -1.0835  (-1<ECt-1<0) 

-1.0835

 

 

ln EXPOTH,CN  =   -10.9208 + 2.8640 ln MPICN  + 2.8495 ln MPITH   + 1.4078ln RERTH,CN      (4.1) 

       (-1.2203)       (1.8896)               (4.0562***)                 (1.0193) 

 

: 1) ()  t-statistic (two-tailed tests) 

     2)  *** 0.01 

 

4.1  

(ln MPICN)  

(ln MPICN)

2.8640

1 

2.8640

0.01 
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(ln MPITH)  

(ln MPITH)

2.8495

1 

2.8495 0.01

 

(ln RERTH,CN) 
 

(ln RERTH,CN)

RER

1.4078 

1 

1.4078 

0.01 

 

 

4.2  

 F-Statistic 4.3 
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4.3 F-Statistic 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

: 

1) [ ] Probability 

    2)  *** 0.01 

                           ** 0.05 

              

 

F-Statistic 2-8  

(cointegrate)  9-12

0.10 F-Statistic  

 
 

2 6.0643[0.000]*** 

3 9.0956[0.000] *** 
4 10.1231[0.000] *** 
5 10.3389[0.000] *** 
6 6.5879[0.000] *** 
7 4.2437[0.004] *** 
8 2.6028[0.046] ** 

9 1.5781[0.195] 

10 0.46356[0.762] 

11 0.22639[0.922] 

12 0.18483[0.945] 
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 4.4 Error Correction Model ARDL 

3.2 

(ln YTH) 

 (ln YUK) 

 (ln RERTH, UK)

 

 

4.4 Error Correction 

ARDL SBC (Schwarz Bayesian Criterion) 

 

 

(variable) 

(lag order)  

0 1 2 3 4 

ln EXPO 
 0.22869** 

(2.0863) 

0.53834*** 

(5.0906) 

0.49703 *** 

(4.3023) 

0.26149** 

(2.4532) 

ln MPI UK 
0.18911 

(0.10309) 

    

ln MPI TH 
1.3488***  

(4.6076) 

    

ln RERTH, UK 
-0.37150  

(-0.64123) 

    

Constant 
8.3105 

(1.2176) 

    

ECt-1 
-0.89344 *** 

(-7.0364) 

    

: 1) ()  t-statistic (two-tailed tests) 

     2)  *** 0.01 

             ** 0.05 

     3) R-squared = 0.45254      Durbin-Watson stat = 2.0647 

:  
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 (ln MPIUK)

4.4 SBC 

0  0.18911

1 

0.18911  

0.10 

 

(ln MPITH)

4.4 SBC 

 0 1.3488 

1 1.3488 
 0.01 

0 
  

(ln RERTH,UK) 4.4 

SBC 0 

-0.37150

1 

0.37150 0.10 

 

ECt-1  -0.89344  

(-1<ECt-1<0) ( 0.01) 
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ln EXPOTH,UK  =   9.3016 + 0.21167 ln MPIUK  +  1.5096 ln MPITH -  0.41581 ln RERTH,UK      (4.2) 

     (1.2297)       (0.10311)                (5.8362***)                 (-0.63891) 

 

: 1) ()  t-statistic (two-tailed tests) 

     2)  *** 0.01 
 

4.2 (ln 

MPIUK)  

(ln MPIUK)

0.21167

1 

0.21167

0.01 

 

(ln MPITH)  

(ln MPITH)

1.5096

1 

1.5096 0.01

 

(ln 

RERTH,UK)  

(ln RERTH,UK)

RER 



 40

-  0.41581 

1 0.41581 

0.01 

 

 

4.3  

 F-Statistic 4.5 
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4.5 F-Statistic 

 

 

 

: 

1) [ ] Probability 

    2)  *** 0.01 

                           ** 0.05 

              

 

F-Statistic 2-12  

(cointegrate)   

 
 

2 6.0303[0.000]*** 

3 6.3534[0.000] *** 
4 7.7099[0.000] *** 

5 9.6063[0.000] *** 
6 8.0535[0.000] *** 
7 5.1670[0.001] *** 
8 3.8127[0.009] *** 
9 2.7160[0.041]** 

10 3.1606[0.023]** 

11 3.8755[0.010]** 

12 4.7029[0.004]*** 
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 4.6 Error Correction Model 

ARDL 3.3 

(ln YTH) 

 (ln YUS) 

 (ln RERTH, US)

 

4.6 Error Correction 

ARDL SBC (Schwarz Bayesian Criterion) 

 

 

(variable) 

(lag order)  

0 1 

ln EXPO 
 0.22752** 

(2.4557) 

ln MPI US 
1.7327* 

(1.7559) 

 

ln MPI TH 
0.22752  

(-0.4543E-3) 

-2.2303*** 

(-4.2072) 

ln RERTH, US 
2.6723* 

(1.7031) 

 

Constant 
4.2984  

(0.86893) 

 

ECt-1 
-0.45203 *** 

(-5.4705) 

 

: 1) ()  t-statistic (two-tailed tests) 

     2)  *** 0.01 

             ** 0.05 

               * 0.10 

     3) R-squared =0.42969      Durbin-Watson stat = 1.9753 

:  
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 (ln MPIUS)

4.6 SBC 

0 

1.7327

1 

1.7327 0.10 

 

(ln MPITH)

4.6 SBC 

 0 1  

0.22752 -2.2303  t-statistic 

1 1 

0.01 

1 

2.2303  0.01 

1 
  

(ln RERTH, US) 4.6 

SBC 0 

2.6723

1 

2.6723 0.10 
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ECt-1  -0.45203  

(-1<ECt-1<0) ( 0.01) 

 

 

ln EXPOTH,US  =   9.5090  + 3.8332 ln MPIUS - 0.38822 ln MPITH -1.7107 ln RERTH,US      (4.3) 

        (0.89201)       (1.7219*)                (-0.41227)                 (1.7219) 

 

: 1) ()  t-statistic (two-tailed tests) 

     2)  * 0.10 
 

4.3 

(ln MPIUS)  

(ln MPIUS)

3.8332 1 

3.8332 

0.10 

 

(ln MPITH)  

(ln MPITH)

 - 0.38822

1 

0.38822 0.01
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(ln 

RERTH,US)  

(ln RERTH,US)

RER 

-1.7107 

1 

1.7107 0.01 

 
 


